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Iz BB Eihe PUG 15 1 1 0 1 0 2 4 2 0 0 2 2
iz B2 s e Fi 4l a5 9 2 0 1 0 2 1 1 1 0 0 1 0
Iz BB Frot)L (HENER) 2 1 0 1 0 0 0 0 0 0 0 0 0
sz BB H B % 26 4 1 2 1 2 3 5 3 0 0 3 2
iy bR PUG 13 0 2 0 1 1 2 4 1 0 2 0 0
izp ¥75 B R ok 10 0 2 0 0 1 1 2 2 1 0 0 1
AR Frot)L (HENER) 1 0 0 0 0 0 0 0 0 0 0 0 1
[P HEMH 24 0 4 0 1 2 3 6 3 1 2 0 2
FiR HISHE 45 4 2 2 4 3 3 2 4 3 2 7 9
iR ¥75 B P ok 67 2 7 5 8 1 1 3 6 4 5 5 10
FiR Frot)L (HENER) 9 0 0 1 1 0 1 1 4 0 0 0 1
FiR HEMH 121 6 9 8| 13 4| 15 6| 14 7 71 12| 20
RiE RiGHa 56 6 4 5/ 10 6 2 0 0 5( 13 1 4
iR ¥75 R R o 7 0 0 1 1 1 1 1 0 0 1 1 0
RiE Foot)L (HENER) 11 3 0 0 0 1 2 0 0 2 0 1 2
iR HEMH& 74 9 4 6| 11 8 5 1 0 7| 14 3 6
B REH2 42 8 1 1 3 5 2 7 2 3 2 2 6
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[SYh) 7 5z i X 2 0 0 0 0 0 0 1 1 0 0 0 0
251 vl (HENE) 0 0 0 0 0 0 0 0 0 0 0 0 0
12 4% HENH 5K 2 0 0 0 0 0 0 1 1 0 0 0 0
=5 HISHE 171 19| 10 8| 19| 15| 11| 17 9| 11| 19| 12 21
a&t R ok 148 5/ 14 11| 13| 11| 19| 14| 14 9 12| 10| 16
&t Frt)L (HENE) 27 4 0 2 1 2 3 2 4 3 0 2 4
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